FOOD CORPORATION OF INDIAX
Assistants Grade Il Exam - Previous Paper

| REASONING ABILITY

' Directions (1-9) : In each of
the following questioins, select the
related word/letters/number from
the given alternatives. .

1. Student : Book :: Postman : 7
(1) Delivery  (2) Bicycle
(3) Uniform (4) Mail
2. Iliteracy Education :
. Drought: ?
-+ (1) Well (2 Rain
(3) Dam (4) River
Carpenter : Furniture :: ?
(1) Book : Author * "
(2) Magazine : Editor
(3) Cook : Soup
(4) Dam : Engineer
4. LOM : NMK = PKI : ?

(DRIH ~ (2)SHG
(RIG (4 RHG
8. JTIS : HRGQ :: FPFEO : ?
(1)DNCM  (2) DCN@
(3)CNDM _ * [4).CNDQ
6. BAD : CBE :: ?: IVSU
(1GOOD  (2) HSPR
(3JHALT  (4) HURT
7.5:30:8:7
(1) 14 (2) 50
(3)89 (4) 80
8.12:30:2Q:?
(1)48 ‘(2032
(3)35 4) a2
9.3:28:577%
(1) 179 (2) 126
(3) 124 (4) 125

Directions (10-1%) : Ir each
of the followihg questions, select
the one which is differenit from the
other three responses.

10. (1) Cement (2] Glue
. (3) Gum (4} Lock
11. (1) Biographv

.(2) Phoicgraphy

(3) Lithography

(4) Xercgraphy

' 1475,4, 1,3, 2
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12. (1) Pelrol - Car
(2) Coal - Engine,
(3) Smoke - Fire

(4) 01l = Lamp s
18. (1)23 (2)35
B9 (4) 17
. 14. (1)6121 (2) 7884
3)1036 (420
15. (1)21-98 (2)48-210
(3)7-29 (4)Z7~126
18. (1) EBD (2) IPH.
(3)QNO  (IYNX
17. (1 BQCR  (2) DBET
(3) FUGV . Hlt!lll'!
T18 (VAU (2) BERF
(3)ADIU - (4) OLAT:

Directions {m-ﬂn In iach
of the following questide. which
one of the given respongen would be
a meandingful ordey of the follow-
ing words in ascending orger ?

19. 1. Child - 2. P ion

3. Murriag- 4, lafant

. 5. Education

(111,5.5,%.4

(2)2,1,4,38,5

(314, 1,5:2,3 .

1. Flastering 2. /Painting
3. Foundation 4,"Walls
5. Ceiling

11.2.3.4.5
(%3.4.1,2.5 .
(3)8,4,5.1,2"
(4)5,4.3.2,1 °
If the following wi

21

Diectionary. '

. on third place 7 7

< (1) KNOW mm&:ﬁ

{3) KNIT (4} mﬂ
. Which one set of m when
»sequentially planﬂht ihe gaps
in the given letter sieries shall
complete it ?,, &y

-

._bpc_aabc__“: ‘
(Jache  (2)abac
(3) abec (4] acas

Directibns {28-24) : In each
of the following guesticris, choose
the correct alternative from the giv-
€n ones thn.t will-complete Lthe se-
ries :

23. ACE, BDF, CEG, 2

(1) CED {2) DFH
(37 DEM (4) HED
24, AZBY, CXDW, EVFU. ?
i {1i SHTG  (2) GXHW
(3) GTHS  (4) STHO!
25. 33,48,65,84,2.2

(1) 105,128 (2)989, 110
(3) 101,118 (4) 105, 126
2, 10,26, 50,2
(1) 74 T (260
(3) 78 (4) 82
Find the wrong number in the
given number series :
© 2,10, 30,68, 120,232
(1) 68 (2] 120 "t
(3) 30 »-(4] 222 :
Savitha introduced a boy as
the son of the only daughter
of the father of her maternal
uncle, How is hoy related- to
Savitha ? -
(1) Brather (2) Son
(3) Nephew (4] Son-in-law
29. A father is three times as old
' his son. Eight years ago, the
father was five times as old as
his son. What'is the present
age of the son ?
(1) 12years (2) 14 years
(3) 16 years  (4) 20 years'
From following alternatives
select the word which cannot
be formed using the letters of
_the given word:
DEPARTMENT
(1) PART (2) TREAT
(3}MATURE (4) TAME
From the following alternativés
select the-word which can be
formed nsing the letters of the
given word :,
EXPERIENCE

26.

27.

§

.

31.
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(1) EXPIRE

(2) PERCIEVE

(3) EMPIRE

(1) EXPENSE

IfE = 5 and TEA = 26 then
TEACHER = ?

(1)75 (2) 59

{3160 {4) 57

In certain code COMPUTER s
writter: a3 OCPMTURE. In that
code which alternative will be'
written as OHKCYE 7

(1) HCOKEY (2] HYKOCE

(3) HOCKEY {(4) HOYECK

. X stands for +, Z stands for +,
Y stands far —, and P stands
for x, then what is the value
of I0P2X5Y57?

(1) 10 (2) 15

(3)20 (4] 25

Some equations are solved on
the basis of a certain system.
Find out the carrect answer for
the unsolved equation on that
basis.

2

If3+5=5,4+7=8,8+7=6|

then, what should 9 + 6 be ?

(114 (2).9

[(3)5 14)6

Select the correct combination
of mathematical signs io re-
place * signs and to balgnce
the given equation :

28*4*9*16
(1) + += 2]+ +=
(3)- (4)-=x

Directions (37-38) : In each
of the following questions, find the

missing number from the given re- |

sponses.
87. 8 15 22
29 7. 43
50 57 64
(1) 34 2) 50
{3) 33 (4) 36
88, 7 9 3
B gf. 5
2 5 ' 7
112 135 S0u
(1)6 (@70
() 60 {4)65

38, A man siovts from his house
and walked straight for 10
metres towards North and
t n-n.ed left and walked 25 me-
tres. He then tumned right and

walked 5 metres and again
tuimed right and walked 25

metres.
Which direction is he facing
now ? - '
(I)North  (2) East
(3) South (4} West
40. A and B starl walking from the

same point. A goes north and
covers 3 km, then turns right
and covers 4 kms. B goes west
and covers 5 kms, then turns
right arid covers 3 kms. Flow
far apart are they from each

other ?
(1) 10km  (2)9 km
{3} 8 km (4) 5 km

41. Five persons A, B,C,Dand E
are sitting in a row facing yon
such that D is on the left of €
and B 1s on the right of E. A is
on the right of C and B is on
the left of D. If E occupies a
cornier postton, then whe is
sitting in. the centre ¥

‘(1A 2) &
(8)C 4)D
42. If Ram's house is located 1o the

* south of Krishna's house and
Govinda's house is to the east
of Krishna's house, in what
direction is Ram's house situ-
ated with respeet to Gavinda' s
heouse ?

(1} Morih-East
{Zj North-West
(3) Bouth-East
i{4) South-West )

Directions (43-44) : In each’ a2

nr the following questions, two
staterments are given followed by two
conclusions 1 and II. You have to
consider the statements to be true
even if they seem to be true even if
they seem to be al variance from
commonly known facts. You.are to
decide which of the given conclu-
sions, if any, follow from the given

-statements.

43, Statements:
1-‘_ All children are students.
2. All students are players.
Conclusions:
1. All cricketers are students.
'11. All children are players.

(1) Only conclusion I follows.
(2) Only conclusign II follows.

(3) Both conclustons 1&nd [I
follow.

(4) Neither conclasior | ner I
follows.
44, Statements;
1. No teacher ¢comes to the
schodil oni-a bicycle,
2. Ansnd cenes to the school
on a Licynle.
Conchosivnis:
1. Anarnd s not a teacher.
Il. Anand is a student.
{i) Conclusion | alone can he
drawn.
(2) Conclusionll a.lom: can be
drawn .
{3) Both .Conclusions can be
drawr.
{(4) Both Conc]usiona can 'ml.
be drawn.
48. Which answer figure will com-
_  plete the pattern in the gues-
tion figure ?

.Buestion Figure

Answer Figures :

(2)

B

(3) (4)

Select the answer figure in
which the question. figure is
hidden/embedded.

Question Figure

|
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Answer Figmu 3

(A '
(1) (2) m
(3) (4) @

47. A piece of paper is folded and
cut as shown below in the |
question figures. From the giv-
en answer figures, indicate
how it will appear when
opened? ;

Question Figures :

@) 14)

48. Which of the answer figure Is
exactly the mirror image of the
given figure, when the mirror
is held on the line AB ?

Question Figute |

|

mﬂme

49. In the following quecstion a
word is represenied by only
one set of numbers as given in
any one of the alternatives. The
sets of numbers given in the

two classes of alphabets as in
two matrices given below. The
columms and rows of Matrix-1
are numbered from 0 to 4 and
that of Matri%-I1 are numbered
from 5 to 9. A letter from these
matriced can be represented

column, e.g.. 'F' can be repre-
sented by 14, 21, etc. and 'E'
«an be represented by 20. 32,
etc. Identify the set for the
MATRIX-T

9]
1
2

1
=
N
F
D
i

al =59 1|2 e

19 2|e]=|gjo

A2 E ]~ W

é

&

O pt~ain|

Al e |Clngt

7
R
o]
S
P
T

ol x| |e
el ol (=1 A )

(1)21,22.88,33
(2) 14, 10,69, 14
(3)33,34,76,22
(4) 02,-03,57, 01
I 80. Which one of the following di-
agrains best depictsithe rela-

i

en and mothers ?

I3
(2)

(1) (21 @
(@& {f‘% @

“(4) None of these

alternatives are represented by |

first by its row and next by its |

tionship among peoplg, wom- |

[ GENERAL AWARERESS |

51. The value of a commodn:?' EX-
pressed in terms of monecy Is

known as
(1) Price (2) Utilit,r
(3) Value (4) Weaith

B2. The Planniig Commission of
_Indig was established in the

year :
(1) 1947 {2) 1949
(3) 1950 (1) 1952
Green Reyoludon was started
in i
To(1)1%e0 - (2) 1970
£4) 14980 (4) 1990
84. Thea term of the Finance Com-
mission fs .
(1) Ten years
(2) Five years
(3) Six years
(4) Three years ; .
Reserve Bank of India was na-
ticnalised in | '
(1) 1948 (2) 1947
(3) 1949 (4)1950 .
Wha was the Chairman of the
Constituent Assembly ?**
{1) Dr. B.R. Ambedkar
(2) Dr. Rajendr&Prasad
(3) Jawahar Lal Nehru
' (4) Vallabh Bhad Patel ' /
87. Which one: of thc following
" methods is used to ascertain
the public opinion on fmpor-
tant legislation ?
(1) Initiative
(2) Recall :
(3) Referendum
(4) None of the above .
. Fundamental Dutizs were add-
ed to the Constitution by
(1) 24th Amendment :
(2) 39th Amendment
(3) 42nd Amendment
(4) 44th Amendment
The final authority fo interpret
our Constitution is the
(1) President
(2) Parliament
(3) Prime Minister
(4) Sdpermé Court .
Compared with Seclety, the
scppe of - State activity, is
(1) Wider" (2) Narrow
(3) Just equal _
{4) No comparison between the

53.

X

two

TOP o Py T o
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61.

Seleucus Nicator was defeated

by

" (1) Ascka

(2) Chandragupta Maurya
(3) Bindu Sara
(4) Brihadratha

. The siriking feature of the

Indus Valley Civilization was
{1) Urban Civilization

(2) Agrarian Civilization

(8) Mesolithic Civilization

(4) Paleolithic Civilization
The Governor-General who
abolished the practice of Sati
was 3

(1) Dalhouste

" (2) Ripon

67.

70

(3) William Bentinck

(4) Curzon

The famous Bhakt Saint who
belonged to the royal family of
Mewar was

(1)Chaitanya {2) Andal

(3) Meerabai (4) Ramabai
After Alexander's death the
Eastern part of his empire
came under

(1) Seleucus Nicator

(2) Menander

(3) Rudradaman

(4) Kanishka .

_The TharExpress goes to

(1) Afghanistan

(2) Bangladesh

(3) Pakistan

(4) Myanmar

The product used for manufac-
turing of Industrial alcohol is
(1) Khandasari

(2) Bagasse

(3) Molasscs

(4) Paper-pulp

. Guwahati is situated on the

bank of the river

(1) Teesta -

(2) Brahmapulra

(3) Hooghly

{4) Sone |

Kanchenjunga is situated in
(1) Nepal

(2] Sikkim

(3) West Bengal

{4) Himacial Pradesh

With which set of following
countries has Arunachal
Pradesh commeon border?

i1

' (2) Myanmay, Bangladesh snd

71.

78

-

74.

78.

76.

78,

(1) Bhutan, Bangladesh and
China .

China

3) Bhutan Chlna and Myan-
mar

(4) Bhutan, Bangladesh and
Myanmar

The green colour of the leaves

is due tp the presence of

(1) Proteins (2) Lipids

(3) Chilorophyll

(4) Carbohydrates

. The edible part of an onion is

(1) Modified root

(2) Aerial flower

(3) Aerial stem

(4) Fleshy leaves

To which group of blood an
universal recipient belongs?

(1) A group (2) B grovp
(3) O group (4) AB group
The normal body temperature
of human beings is
(1) 96.4 °F (2} 97 4 °F
(3) 98.4 °F {41 22.4 °F
Celumba livia is the sclentif-
ic name of :
(1) Pigeon [Z) Snake
(3). Ranibit {4) Shark
Bones are pneumauc in
(1) Fighes
(2) Amphiblans .
(3| R=ptiies (4) Birds-

- Name the process of produc-

don of energy in the Sun

A1) Nuclear fission

(2) Radiocactivity

(3) Nuclear fusion

(4) lonization

A spherical ball made of steel
when dropped in mqw:ur_w,r con-
tainer will

(1) sink in mercury’

(2) will be on the sutface of

- mercury
(3) will be partly immersed

mercury

(4} will dissolve in mercury
The sounds having a frequen-
¢y of 20 Hertz to 20,000 Hertz
are known as .

(1) Audible sounds

(2) Ultrasonics

(3) Infrasonics

{4) Megasonics

BO.

8

87.

Eclipses occur.due to which
optical phenomena? -

(1) Refllection (2) Refraction
(3) Rectilinear propagation
(4) Diffraction

Which ot: the foliowins; produc-
es highest amouni’ of energy
uporl oxidation? :

(1) Protein . 42) Fat

(3) Glucese (4) An alkane
Pure water is bad conductor of
electricity berause it is

(1) fcebly wonized

(2} not volatile

{3} a very good solvent

4] a mon-po!&r solvent
Where 1s'National Chemica)
Laboratory (NCL) located?

(1) Chandigarh

(2) Bhavnagar

(3) Pune

(4) Panaji

The metals con .mnnly used for
electroplating are :

(1) Gold Sodium and Chron!l~

2) Chrcmlum. Coppq- and
Nickel »

(3) Nickel, Lead and Chromi-
um

(4) Gold, Sodium and Potassi-
um

. Which of the following in au-

tomobile exhaust can cause
cancer ?

(1) Oxides of nitrogen

(2) Carbon monoxide

(3) Lead

(4) Palyciinic hydmca:bons
Bleaching powder is used in
drinking water as a/an

(1) disinfectant (2) antibiotic
(3) antiseptic  (4) coagulant
Gamma rays have greatest sim-
flarity with

(1) a-rays

(2) p-rays

(3) X-rays

.(4) UV.-rays

In the absence of ozone layer,
which rays will enter into at-
mosphere?

(1) Infrared

(2) Visible

(3) Ultraviolet.
(4) X-rays-
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B88. Where are programs and data
to be used by the computer
available?
(1) Processing Unit
(2) Output
(3) Storage
(4) Input
In HTML, <B> and </B> tags
display the enclosed text in
(1) black colour
(2] background
"~ (3) bold
{4) bright
91. Who invented chlornfam as
anaesthetic?
(1) James Simpson
12) Edward Jenner
(3) Alexander Fleming
(4) Christian Barnard

82. The Nobel Prize for Chemistry .

- far the year 2011 has been
awardes; [ S
(1) Sau! ."smutter, Brian P.

Riess :

(2) Bruce A. Beutler, Jules A.
Hoffmann and Rélph M
Steinman -

(3) Chﬂatopher A. Sims and
Thomas J. Sargent .

(4) Dan Schechiman

Sebastian Vettel won the For-

mula 1 Indian Grand Prix held

at Greater Noidaon October

30,2011, This was alsa his

__ win of the season.

() idth () Mth
(3) 12th (4) 13th -

Of which of the following

States of India is Kuchipudi a-

dance-drama?’

(1) Orissa '

(2) Andhra Pradesh

(3) Kerala Ay,

{4) Tamil Nadu ;
With which of the féllowing
was Satyajit Ray associated?
(1) Classical dance :

[2) Jouma]iérp'

(3) Classical music

(4) Direction of {ilms

Census datd released on July
15, 26011 yeflects that 13.48
percent urban popu'latmn lives
in

(1) Uttt Pradesh -

96,

(2) Bihar
(3) Maharashtra
(4} Rajasthan

B7. National Social Assistance Pro-
gramme is aimed at providing
(1) financtal support to Sched-

uléd Castes and Scheduled

(2] old age pension Lo very poor
(3) insurance for the poor*
(4) All of the above

98. As per studies, the Tumma-
lapalle mine in Andhra
Pra.dq;ﬁh Lould have Ura.nim'n
‘reserve of
() 1 lakh tormes
(2) 1.5 lakh tonnes
(3) 2 lakh tonnes
‘(4) 2.5 lakh tonnes

89. Which of the following is a fa

mous-Assamese festival ?
(1) Makar Sakrantd

(2] Yugadi

-{3] Opam

100.The least populated State in
India is ~ '

(1) Arunachal Prsdm b
[2) Sikkim

(3F Mizorari .

{4) Uttaralo'iand

LQUAHTI*(ATNE APTITUDE |

10L. I\ 109€ = 64, then vatue of
/40 96 1/0.4096 + 0.004006
+/0.00004096 1s

(1) 7.09 . (2)7.1014
(317.1104 (4)7.32 -
¥02. The value of «

T3NS0 M N
15 35 63 99 143"
(llgg '2’3_9
e 7o

(3) 30 (4) 30

a
] 4'5]
| 103.When simpuned (256) [ is

& e e
(118 [?]JB

1
32 (4] 2

104.The number 2.53, wheri writ-
ten as a fraction and reduced
to lowest terms, the spim of the
numerator and deaokiinator is
17 2122

(3141 4! 345

108. If the square rost of x 18 the
cube root of u, then the rela-
tion between xand gy is
(A} =y 2=y
(B)x=y 4) =1

106. A and 5 sgelner can complete
avoric'n 12 days. A alone can
complete in 20 days. If B does
the work only half a day datly,
then in how many days A and
B together will complete the
work 7
(1) 10days (2)20days
(3) 11days " (4) 15days

107.A can do a picce of work in 70
days and B is 40% more effi-
ctent than A. The number of
d&vstakenWBlodomesmne
work is : :
(1)40days (2) 60 days
(31 50 days (4)45days

108. A right circular cylinder, a
hemisphere and a nghthclrcu
lar cone slapd on the same
base and have the same height.
The ratio of thelr volumcs is
(1)83:6:1 2)3:4;1
(3)3:2:1 (4)4:3:1

109. A cylinder has 'r' as the radius
of the base and 'h' as the
height. The radius of badse of
another cylinder, having dou-
ble the volume but the same
height as that of the first eyl-
inder mnst be efiial to

; ,
(6 By (2 2r
32 @ J2r

110. Area of the base of a pyramid
is 57 sq.cm. and height is 10
cm, then its volume in cm®, §s
(1)579 (2) 390
(3) 190 (4) 5BO.

111.1f thélength of the diagonal of
acubeis g3 cm, then ifs sur-
face area is
(1) 192 e
(3) 768 em?

(2) 512 cm?
(4] 384 cm*
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112.The area of a circle inscribed
in a square of area 2 m? is
‘) L3
) zm* (@ ym’
@ mm? . 4) 2mm?
113.1f the numerical value of the
perimeter of an equilateral tri-
. angle is /3 times the area of
it, then the length of each side
of the triangle is
()2unit  (2) 3 unit
(3)4 unit  (4) 6 unit
114.An equilateral triangle is

drawn on the diagonal of a:
square. The of the area of the :

triangle to that of the square
is g

MV3:2 (242:43

(312:43 (@ 1:42
118.For a certair arti¢le, if dis-
count is 259% the profit is 25%.
) If the discount is 10%, then the
profit is 3%
(1) 50% (2) 40%%

(3) 30% (4) 33 % %-

116, The price that Akbar should
miark on a pair of shoes which
costs him ¥ 1,200 to fain 12%
after allowing a discount of

16% (in rupees) is

(1)1344  (2)1,433
(3) 1,600 (4) 1,500
117.1f y: x= 4 15, then the value
XA
of [x*y]‘lsl
1L = - 19
M 19 @1
. 3 2 B
B3 17 . .! ) 15
118.Some nters promised to
doajobin 9 days but 5 of them

were absent and remaining
men did the job in 12 days. The
original mumber of carpenters
was

- A

&1

(2)20
- (418

=

o .

|
|

118. One third of a certain journey
is covered at the rate of 25 km/
hour, one-fourth at the rate of
‘30 km/hour and the rest at 50
km/hour. The average speed for
the whole journey is E
{1) 35 km/hour -

) 33*;- km/hour
(8) 80 kan/hour

4) &7 1_12" km/hour

120. The average of two numbers is
B2. If 2 is added to the small-,

est number, the ratio between |

the numbers becomes 1 : 2. The
difference of the numbers is
(1) 62 (2140
(3)84 (4) 24

121. The cost price of 25 articles is
equal to the sellingprice of 20
of them. The gain or loss per-
cent is given by "
(1)20% loss (2) 27% gain
(3) 60% loss (4} 75% gain

' 122. A shopkeeper makes a profit of

20% even after glving a dis-
count of 1% on the marked
price of ‘an article. [f marked
price {4 ¥ 500 then the cost price
of the article is
(1ig 350 (2)2375
I3V 425 (4)2475

123, 1f 40% of (A + B) = 80% of

124. A number is first increased by
10% and then it fs further in-
creased by 20%. The original

number is increased altogeth-
er by :

(1) 30% (2) 15%

[3)32%  (4)36%

128. If a train runs at 40 km/hour,
it reaches 1ts destination late
by 11 minutes. But if it runs
at 50 km/hour, it is late by'5

minutes only. The correc: {me
[in minutes) for the train to

complete the journey is
(1)13 Q15
* (3),19 T o(4) 21

126. A tree increases anrually. by

1 .
B th of 1ts height. By how

much- wiil i increase after 2
years, it stands today 64 cm
high?

(1) 72cnr. (2)74cm
(3175¢m - (4)8lcm
127.1f 2=* = 32, thea the value of
3*'is equal-to
(27 (2)81
3) 72 @49

198, If g+%- 2.x # 0 then value

of XT+

—xs is equal to
(i 22
3)3 (4)4

a

120.1f 2421020520 the
b a:. v

value of a® + b*is
(noe a (21
(3)-1 - H4)2

| 130.1fa*+ B+ *+3=2(a+b+d

then the valueof (a+ b + ¢ i3
(e
(3) 4

(2) 3
@s

2p

1
Jf b= —,p#0,
13117 P -2p+1 4P then

the value of P-#% is

(ma (2)5
(3) 10 (4) 12

132. The ortho centre of a right an-
gled triangle lies
(1) outside the triangle
(2) at the right angular vertex
(3) on its hypotenuse
‘(4) within the trtangle

133, The angles of a triangle are
"(x + 5)°, (2x~- 3)° and (3x + 4)°.

. The value of xis
(1) 30 (2131
(3) 29 (4) 28
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134.Two line-segments PQ and RS
intersect at X in such a way
al XP = XR, if £PSX = ZREX.
them one must have
[HFR =05
{4} PSS =RQ
(3) £XSQ = LXRP
(4] arfAPXR) = ar{AQXS)
138. AD is the median of a triangle
ARC and O is the centroid
such that AD = 10 em. The
length of OD in ¢m is
(1) 4 (215
)56 (48
13&.The external bisector of £B
and ZC of AABC (where AB and
AC extended o E and F re-
spectively] meet at point P. If
ZBAC = 100° then the mea-

sure of ZBPC {s
{13 50° (2) 80°
{31 ag® (4) 100°

137.1f tan (26 + 45° = cot 30 where
(20 + 45°) and 36 are acule an-
gles, then the value of 8 is
{1)5° (2) 9*
{3) 12° (4) 15°

138. One flies a kite with a thread
150 metre long. If the thread
of the kite makes an angle of
60° with the horizontal line,
then the height of the kite from
the ground (assuming the
thread to be tn a straight line)
is
(1} 50 metre

(2) 753 metre

(3) 25 J3 metre
(4) 80 métre )
139.1If 8 be acute angle and cos 0

5
=—then the wvalue of

17
cot (90° - 8) is

2J/8 8
Yy Wi

&

2 8J2
(3) l?

(4) 7

140. Ifse® 0+ tan? 8 = 132- then

secty - tan‘g=

B F A
(3 (2 5

5
3 13

241.1f cos x + cos Yy = 2, the value

of sin x + sin y is

(1o (211

{3)2 (4)-1

Directions (142-145) : The
following Pie-chart shows the land
distribution of a housing complex.
If the total urea of the complex is 5
acr=s, examine the pie chart and
answer the questions.

{4) ]

(adaaaa
8

WL
Hil

i
A

VI
Residental Area
Comrnercis! Area: |
Road Area AN
.
Water body i
142.The ratic cf area allotted for
residential and road purpose is
(1:47 (2)4:1
(813 :% 4)8:3
148.The percentage of the total
arca allotted for water body and
green zone together is
{1)35% (2) 30%
(3) 45% (4) 40%
144. Land allotted for green zone is
grealer than that for commer -
¢ial purposc by

Green Zione

3 2

(1) Sacres (2] 3 acres
4 3’

(3) gacres (4] 7 acres

145. The total land allotted for res-
idential and comunercial pur-
pose is

1
(1) 2; acres .

1
(2) 43 acres

I
[

Gross/Net I'rofit

3
=
(3) 2 af‘,rm

4) 2% acres

Directions (245-1=0) : Study
the following bar graph and answer
the questions,

Gross Profit-and Net Profit of
a company in lakhs of rupees for the
years 19941947

= -
A Gross Net Profit

RO+ Profit
T sol-

) oy

k40 g

E a9 H

=4 -—:l“ s

% 201 = |

& 101

1984 1995 1996 1897
Years ——>

146.The year in which the gmsa-
profit is double the net profit

(1) 19e7 {2) 1995

(3) 19¢6 (4) 1994
147.The percentage of net profit of

1995 as compared to the gross

profit in that year is

(1) 25.5% (2] 35.5%

(3) 37.5% (4) 42.5%

148. The difference of average gross
profit and average net profit
calculated for four years is
(1) 7 18.75lakhs
(2) 7 19.75lakhs

~ (31720.5 lakhs
(4) ¥22.5 lakhs

148. The ratio of gross profit to net

profit in a year was greatest in

the year
(1) 1994 (2) 1995
(3) 1296 (4) 1997

180.For the entire four years as
shown, the ratio of total gross
profit to total net profit is
(1)13: 4 2)11:6
@11:5 4)9:4
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| ENGLISH LANGUAGE

Directions (151-155) : Inu the
following questions, some sentenc-
es have errors and some have none.
Find out which part of a sentence

' has an error. The number of that |

part is your answer. If there Is no

error, then your answer is (4) i.e. No |

error. :

"151. Neither of them (1)/ are (2)/
good (3)/. No error (4)

182. Due to me being a new comer
(1)4 1wasunable (2)/togeta
good house (3)/. No error (4)

163. The circulation of The States-
man (1)/ is greater than (2)/
that of any newspaper. (3)/. No
error (4) ;

154, In the garden (1)/ were the

* more beautiful flowers{2)/ and |

silver bells (3)/. No error (4)
185, The poet (1)/ describes about

(2)/ the spring season {3]/ No

error (4)

Directions (156-160) : In the
following questions, sentences are
given with blariks to be filled in with
an appropriate word(s). Four alter-
natives are suggested for each ques-

-, tion. Choose the correct alternative

out of the four as your answer. -
156. The news was good to
be true.
(1) very (2] too- -
(3} s0 (4) as
- 187.How much longer _.__
book ? .
(1) you are needing
(2) will you be needing
(3) will you have needed
(4) have you needed. .
you hear the President’s
gpeech ? :
(1) Have
(3)Had (4) Did
168.1 to the movies with
some [riends last aight:
(1) have gone (2} went
(3)am gone ' '(4) am going
180.5hehasonly.__ . friends.
(1) fewer (2) less
(3) more 14) a few i
Directizns {161-1685) : In the
following qu=stions, out of the four
alternatives, choose the one which
best expresaes the meaning of the
given wiord, ;

this

158,

(2§ Iias

161.magnificent
(1) magnanimous
(2) modest
(3) generous
{4) splendid
182. spirited
(1) heated
(2) drunk
{.‘?} enthusiastic
. |4) possessed
163. gloomy
(1) misty
(3) murky
64. grumble
(1) to scold
(2) to complain
(3) to sheer
(4] to fight
165. crude
(1) unreﬁned (2) cmcl_
(3) rude (4) savage
Directions (166-170) : In the
following questions choose the word

* (2) obscure-
(4) shadowy

_opposite in meaning to the given

word.
1688, detest.
(1) test
(3] like
167.intentiona?
“ (1) aceiden:al
(2) undecided
(3) conicentrated
(4) broken
168.ccminernice -
1) start
{3 conclude
169, expand
(1) contract
(3) consist
170. prosperity
(1) propriety
(2) property
(3) adversity
(4) perspicacity

(2) dizlike
(4) interest

(2) schedule
(4) dissolve

(2) contrast
(4) controvgrt

following questions, four altégna-
tives are given for theIdiom/
Phrase. Choose the alternative
which best expresses the meaning
of the Idiom/Phrase. -
171.to speak one's mind.

(1) Tp be frank and honest

(2) To think aloud ..

(8) To talk about one's ideas
, - (4) To express one's thoughts

172.t0 make a mountain <f &
molehill :
(1) to make advantage of a
small thing™ ~ "
(2) to give great impurtmwe to
little things
(3) to get into trouble
(4) to see & thiug with preju-
- diced mirad:
173. hand in glowe
(1) in clese relationship
(2) nori-cooperative
(3) critical
" (4] 'on bad terms

| 174.to 26 fuel to the fire

(1) te make matters bright

{2) to cause additjonal anger

{%) to bring matters to a con-

clusion _

(4) to start a revolt
'176.wear and tegr

(1) 2 brand name

(2) damage

{3) lot of sorrow -

(4) a warning -

Directions (176-180) : In the
following questions, part of the sen-
tence is printed in bold. Below are
given alternatives to the bold part
at (1), (2) and (3) which may improve
the seritence. Choose, the correet
alternative. In case no lmprovemmt
is needed your answer is (4)
178. A pair of shoes have been pur-

. chased by me.

(1) has been

{2) has being

(3) would been

(4) No improvement
177.When I shall go to Agra, | sha!l

visit the Taj Mahal.

(83 hgve gone

. (2) shall travel

(3) go

{4) No improvement

-

' 178.Y. t apologisc ieith hi
Directions (171-178) : In the : b fmusl epgiones 5,

for this. .
() to
(2) of
- (8)for
(4) No improvement ;
179.8ince he worked hard he
failed to’secure good grades.
()As |
(3) When
(3) Though
- (4) No improvement
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. "1B0. The minister agreed will an-
swer questions on television.
(1) to answer
(2) for answering
(3) with answering
(4) No |mprovcrmnt g
Directions (181=-185) : In the

rollwdng questions out of the four

alternatives, choose the one which
can be substituted for the given sen-
tence. -

181. A person who loves wealth and
spends as little money as pos-
sible
(1) Curmudgeon
(2) Money-grabber
(3) Scrimp
(4) Miser

182.State of anxiety or dismay
causing mental confusion
(1) Constriction .

(2] Consternation
(3) Concentration
(4) Contraction
188. A person who is I'lucnt in two
: langua,qes
(1) Versatile ~
(2) Expert
(3) Bilingual
(4) Knowledgeable

184. One who eats human flesh
(1) Maneater (2) Cannibal
(3) Beast (4) Savage |

188. The quality of being politely
firm and demanding
(1) asscrtlve (2) bossy-

(3) aggresspve (4)lordy = |

Directions (188-190) : In the ‘
following questions groups of four
words are given. In each grou p.oons
word is correctly spelt. Find the cor- !
rectly spelt word.

186, (1) independance
(2) independence
(3) independens
(4) indepandiince

187, (1) hypoerisy . (2) hy:pocresy
(3) hipocrisy {4} hipocrecy

188. (1) aeroplaiie  (2) airoplane :

v (3) aeroplainn  (4) airoplain

184, (1) loanly (2) lonly

(3] lonelie (4) lonely y
190.(1) cerimony  {2) ceremoney

{ 181. (1) freedom

. Directions (181-200) : In the
following passage, some of the words
have been left out. First read the
passage over and try to understand
what it is about. Then fill 'in the
blanks with the help of the alterna~
tives given. ;

“Qutt]nd:la“ came not from the
1lps but the aching hearts of mil-
lions. In this open rebellion, the
Inidan 181 reached its climax. The
British were not only 182 by it, but
also were obliged to quit unilater-
ally. The importance of Quit India
can be 193 from Lord Linlithgow's,
statement, *I am engaged here in
meeting by far the most 184 rebel
lion since that of 1857, the gravity
and extent of which we have so far

‘military security.” Still more slgrii-
cant was Churchill's gloomy disclo-

sure to the King Emperor thai, “the
idea of 198 of power had beoame

British party leaders,” aithoush his

public statements wer= diametrical-
ly opposite. The'188 creatud by Quit

{2) patriotism

(8] libérations  (4) revolution
192. (1) threatened :

(2! trspired

{3) attacked

{4 inpressed
183. (1} diffused  '(2) gauged

'(3) established (4) deterrnined
'194: (1) trivial

(2] magnificent

"(3) serlous

" (4) auspicious
195. (1) excluded  (2) elicited

(3) prevented (1) concealed
186. (1) transfer  (2) seizute .

(8) grabbing '~ (4) retainment
197.(1) tactics (2) fantasy

(3) inevitability
4] occurrence

(3 ceremony  -(4) cerimoney

198, (1) vialence (2) taboos
(3) vengeance (4) anarchy
199, (1) imagine . (2] pretend
(3)realise  “ (4] anaious
200. (1) power (2) bondage -
(3) exle (4) suspense

_188B Troin the world for reasons of |

an admitted 187 in the minds of-

India® made the British 189 that-
| they could no lenger keep India.in

== ANSWERS ==}

1. 4)

2.2 |

a (3

A3

B (1)

6. (4)

718} )

B, 4)

9. 2)

10. (4)

Al (1)

12. (31

13. (2)

14. (1)

|

18. {3)

17. (@)

18. (2]

19, (3)

20. (3)

21. (4)

2. 3)

&3, (2)

24, (3)

28. (1)

26. 11}

27.(2)

28:(1)

29. (3}

- 80, (31

31. (1)

32. (3)

33. (3)

S+, (3)

38, (1)

-88. (1)

(37,

33, (3

38, (2)

40. (2]

a1, (4]

43. (4)

43. (2)

* 44, (1)

| 42.(4)

48. (2)

47, (4)

48. (2]

39. (-1]
EEE

50. [2)

B4. (2)

B1. (1)
3)

52. (3)

55. B8. 2)

BT (1)

B8. ()

B8. (4)

80 (1)

61, (2)

ea. (1)

63. 3

64. (3)

- B8, (1)

6e. (3)

67. (3

8. (2)

69, (2)

70.(3)

71. (3

72, [4_]_

73. (4)

74. (3)

78. (1)

76. 4]

77. (3)

78. (2)

79. (1)

80. (3)

B1. (2)

82. (1)

83.3

84. (2)

88. (4)

88. (1)

87.(3)

. 88. (3)

89, (3)

0. (2)

gl. (1)

8z, {4)

83. (2)

Bd. (2)

85. (3)

98, {3)

87.(2)

88.(2)

8. (4)

100. {2)

101. (3)

102. (1)

103, 4)

104, (4)

108. (1)

108. (4)

107. (3)

108. (1)

108. (3)

110. (3)

111. (4)

112. (2)

1113.(3)

114. (3)

118. (1)

116. (3)

117.(1)

118. (2)

118. (2)

120. (%)

121. (2)

122. (2)

123:(1)

124. (8)

128. [3)

126. (4)

127. (1)

128. (2)

128. (1)

130. (2)

131. (3)

132. 2)

'184. [3)

134. (2)

185. (2)

136.'(9)

137.12)

138. (2)

139. (2)

140. 1)

141. (1)

‘142, (2)

143. (114144 (4)

146. (3)

148.{1)

147. (3)

148. (3),

148. (1)

180. (3)

151. (2]

132. (1)

183. (3)

154. 2}

155. (2)

156. (2)

187. (49

168, (4}

'159. (2]

160. (4)

{161 (4)

163. (3)

183, (3]

164. (2)

188. (1)

168, (3)

167. (1)

168. (3) |

16e. (1)

170. (3]

171 (1)

172. (2)

173. (1)

174. 12)

178. (2)

176 (1)

177.(3)

178. (1)

178. (3)

180. (1)

181. (4)

182, @)

183. (3

184. (2)

188. (1).

188. (2)

187.(1)

188, (1)

189. (4F

190. (3]

191. (2)

192. (1)

193. (2)

194. (3)

198. (3)

196. (1) | '

197.(3)

198. (4]

200. (2)

2199. (3)
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9. 2)(3P+1=27+1=28 19. (3) Meaningful order-of words -

= EXPLANATIONS =

Similarly. in ascendirtg order :
1. (4) Students carry and study (5 +1=125+1=126 4, Infant
books, Stmilarly, Postman car--|  10. (4) Except Lock, all others are | l
ries maidls. used to stick something or 1. Chlld
2. (2) Iliteracy is warded off paste something on the other ‘¢
through education. Similarly. thing. B ]
" Drought is warded off by rain. | 11. (1) Biography is an adcount of 5. Educatiar ?
3. (3) Carpenter makes furniture. |- -  life of somebody, while all oth- )
Similarly, Cook prepares soup. ers are different techniques of 3. Profession
“In this problem Worker-Prod*- printing. &

uct relationship has been | 12, (3)Smoke comes out of Fire. 3. Marrsge
RESGE Petrol Is used Lo run car. Sim- | a0, (3) Meaningful order of words

4. 3L O M—>N M K ilarly, Steam engine runs on in ascending order :
+2 i "
—_a_-iJ / coal and oiIl is burnt in Lamp. & Foundation:
= g 13, (2) Except the number 25, all A
others are Prime Numbers, The 4. Walls
Samtarly; _ number 25 is a perfect square: : 1
PKI—R1G 14. (1) Except the number B1Zi, :
; _E%J ) all other numbeérs are &ven | o Cf fling
) _ numbers. / i X
5. (1) i 1, Plastering
gy 15. (3}.9—- 4566-ﬁ L4666 | 4
J Tl 8—H R G 21 2. Painting
' i ,g *j : 126 21. (4) 2. KNACK —» 3. KNIT —
g o7 4666 4:KNOB - 1. ENOW
' : : 22. (3)
Strnilarly, Butt 29 laras E'bcc@afabcba /abE'J
FPEO—DNGGCM | 7 S
L % L1124 : iy psd .a 2 n 23. (2) Atls p2tlyc =150
1843 E— 2B 2
= 1 ctlypilyp lap
'_ F 5 H - L +1 +1 +1
s ‘_a N -.?l O b ,,F , G ; H
6. 4B A D—C B E N
' Y v 2 iy 24. (3)
+l bSO
1 " o A—*g—rc—*?-;ua!ﬂ—m
: * S ¥ %
Stmlarly, - - ¥ z-—o-rx——-—bv—rr
® 17-I4iaécz:m S ET s 5
HURT—>1V S(U - & E———bD—-——)F—)H'
L]t 134 e e B
+';' = ﬁ 25. (1)
L2 Sy, FUG ;
¥1 LS ey 33 48 63 "84 _
: Biii% ] +1 ’

7. () (52 +5=25+5=30 - +15 +17 «+190 +21 =
il ey ey e R
@?+5=01+5 =[68] HWI1Y ‘

- I 26. (4) ;
ok : > 2 10 26. 50
8. (4)3x4=32 +1 L ;
5.‘_'E=30 1B. (2) Except the letter group 78 716 24 132
RS2 BCDF, in all other letter
6x7= @ groups there are only Vowels. k % i




SOLVED PAPER : FCI ASSISTANT GRADE-II1 EXAM

27. (2) .
2 10 30 68 [130] 222
LN - H B

+8  +20' +38 462 492

s S - i
+12 +18 +24 +30

+B
Therefore, the number 120 is

wrong in the serles.

. (1) Only daughter of the father
of Savitha's maternal uncle
means the mother of Savitha.
Therefore. the boy 18 hmﬂ1cr of
Savitha. -

(3) Suppose the pre.'aent age of
the son is xyears.
Therefore, the present age
of father will be 3x years.
According to question
5(x— B) = ;
= 5x-40=3x-8

=3 5x-3x=40-8

= 2x=32

+ +8

20,

-'-x=%2-=16yl=ans

30. (3) Thereis no ‘U’ letter in the
keyword. :

31. (1) There is no V" letter in the
keyword and hence the word
PERCIEVE cannot be formed.
There ls o ‘M letter in the
keywnrd and hence the word
EMPIRE cannot be formed.

There is no 'S' Ietter in the |
keyword and hence the word )

EXPENSE cannat be formed.,
(3IE=5,
TEA=20+5+1=26
Therefore,, TEACHER

= 20+5+1+3+8+5+18 [

=60

? M:T U
Similarly,

3 R
k'S

20 C KE Y

A

34. (3)

Z= +
P=x

10P2X5Y65="?
= ?=10x2+5-5

= 7=20+5-5=

35. (1)3+5=3x5=1[5]

X=+
Y ==

4:7=24x7=2[8]

847=8%7=5
Thﬂ'_ﬂfms
946=9x6=5[4]
38. (1)28+4+9=16
=5 7+9_= 16
37. (4) Columnwise
First-Column
8+21=29:20+21=5
Second Column

15+21 = [36];36 + 21 =57

Third Columr:

22+21=43;43+21 =64
38, (3) Columnwise

First Cohuinn : P xB8x2=112

Second Column-

:9x4x5=135

Third Cplumn

3 5_x P= 900

House
He is facing East.
40. (2)

5km B starting Point

Required digtance
=(5 +4) km
=9 km

41. (4)

ITTT

Fam's house 1s to the South-
) West of Govinda's house.
4S. (2) Both the Premises are Uni-
versal Affirmative (A-type).

All children are students.

All students are players,

A+ A= A—ty'pe of Conclu-
sion
“AlL chﬂdren are playdrs.”
This 18 Conclusmn I -
44, (1) Itis clear that Anand is not
a teacher. Anand may be a stu-
dent or clerical staff.

48. (1)

48. (2) ’I

49. (4] F=>02.-14, 21, 33, 40
1= 03, 10, 22, 34, 41
R=57,869, 76, 88,95
E=201, 13, 20, 32, 44

Option+{ F | 1 | R | E
() |[21]22]|ss|36
[2) 14 | 10 | 69 |14
(3] - | 33 |34 | 76| 22
@) 02103 |57 |01
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50. (2] Al momcrs'arc ‘women.

51'

52.

B3.

B4.

B6.

67

-

All women are people.

(1) Value “in exchange” is the
relative proportlon with which
this commodity exchanges for
another commeodity (in other
words, Its price in the case of

moeney).

(3) The Planning Commission |

was set up on 15 March 1850,
with Prime Minister Jawahar-
lal Nehru as the chairman.

(1) The Green Revolution re-
fers to the increase in food pro-

duction and in production of |

non-food items that has sig-
nificantly and steadily taken
place in India since 1966,
(2) As per the Constitution, the
commission is appointed every
five years and consists of a
chairman and four other mem-
bers.

(3 Reserve Bank of India was
nattonalised in the year 1949.
(2) \Dy. Sachchidanand Sinha
was the first president (tempo-
rary chairman)-of the Constit-
uent Assembly when it met on
December 9, 1946. Dr. Rajen-
dra Prasad then became thie
President of the Constitient
Assembly.

(1) In political science, an im-
tiative (also known as a popu-
lar or citizens® imitiativej is a

means by whicha pecition:

signed by a certain minimum
number of. registered voters
can force a pubiic vote (plebi-
scite).

(3) The Fundarnental Puties of
citizens were added to the Con-
stituudn by the 42nd Amend-
meit in 1976, upon the rec-
ommendations of the Swarna
Singh Commijttee.

59.

8

Gll

o

3

(4) The Supreme Court of In-
dia is vested with the author-
ity to interpret the Constitu-
tion and ensure that laws ad-

here to-the spirit and letter of

the Constitution.

(1) state is the coneeptual unit
of politics, the most inclusive
organisation- in any society
that is recognised as having
final say.

(2) He was defeated by the em-
peror of India, Chandragupta
Maurya-and accepted a matri-
niony alliance for 500 ele-
phants after ceding the terri-

tories considered as part of ¢

India.

(1) The most striking feature
of the Indus valley civilization:
wag' found that émphasis sn
the-organization of evervday
civic life.

~(3) In their own sphese of in-

fluence the Portuguese. Dittch
and French banned Ssti but
efforts to stamp cut Satl were
formalised oniy urder Lord
William Bentihick.

(3) Meera, a Rajput princess
was bormn in Kudki (Kurki), a
Httle village near Merta City,
which i{a presently in the Na-
gaur district of Rajasthan in
northwest India.

{I) After the death of Alexander,

Seleucus was nominated as-

the satrap of Babylon in 320
BC.

(3) Thar Express {s an inter-
national train that connects
Karachi, Pakistan to Bhagat
K Kotht, India.

(3) -All beverage alcohol and

ruch of that used in industry
is formed through fermenta-
tion of a variety of products
includihg grain s;r.tch as corn,
potato mashes, Truit juices,
and beet and cane sugar mo-
lasses.

(2) The city is situated between
the' southern bank qf the
Brahmaputra river and the
foothills of the Shillong pla-
teau,

(2) Kanchenjunga is the third
highest mountain in the world,

70.

71

a

73.

74.

75.

76.

78.

70.

81.

located along the India-Mepai
border in the Himalayas.

(3) It shares international tor-
ders with Bhutak in the west,
Burma in the east and the Peo-
ple's Republic ¢f China in the
north,

(3) Chloroplyyii is a green pig:
ment found in alniost all plants,
algae, antl cyanchacteria.

- (4) The edible portion is swol-

len leaves with a bit of stem.
(4) Although those with AB
blood {ype may be referred to
as upniversal recipients, in ac-
tuality, zy'pe AB+ blood is that
of the universal recl pient,
whereas type AB- 1s not.

(3) The normal core body tem-
perature-of a healthy. resting
adult hyman being is stated to
be at 98.6 degrecs Fahrenheit
or 37.0 degrees Celsius,

(1) The Rock Dove [Columba
livia) or Rock Pigeon is a mem-
ber of the bird family Colum-
bidae (doves and pigeons).

(4) Many of a bird's benes arc
pneumatic, with struts across
their hollow lntenorér to pro-
vide a combination qf light
weighl and #trength as an ad-
aptation to flying.

(3) Nuclear fusion is the pro-
cess by which two .or more
atomic nuclel join together, or
"fuse”, to form a single heavi-
er nucleus,

(2) The ball will float on 'mer-
cury because of dil'!‘crent den-
sitles.

(1) The human &ar can respond
to minute pres‘;ﬁre variations
in the air if they are in the
audible frequcncy range,
roughly 20 Hz - 20 kHz.

(2) Fats have the highest

‘amount of energy per gram of
consumption,

..(1) Plare or a distilled form of

water 18 a bad conductor of
electricity because in pure
ror\m ol’water there are no free

jons *

{3) The National Chemical Lab—
oratory (NCL) 1s;an Indian gov-
ernment laboratory based in
Pune..in wegtern India.
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B4. (2) Among the mc!als most
commonly used for plating are
zinc, nickel, chromium, cadmi-

um, copper, silver, and gold.

{4) The U.S. Department of
Health and Human Services
states that some Polycyclic
hydrocarbons may be carcino-

gens in humans and Animals.

and can cause harmful effects
on skin and the auto-immunc
system, -
(1) Calcium hypochlorite is
. used for the disinfection of
drinking water or swimming
pool water.
(3) In the past, the distinction
between X-rays and gamma
rays was based on energy (or
equivalently frequency or
‘wavelength), with gamma rays
being considered a higher-en-
ergy version of X-rays.
(3) This layer absorbs 97-99%
of the Sun's high frequency
ultraviolet light, which poten-
tinlly damages the life forms on
Earth.
(3) Computer data storage, of-
ten called storage or memaory,
refers to computer corhponents
and recarding media that re-
. tain digital data. ;
@1. (1) Simpson discovered the
' ahaesthetic properties of chla-

-

89.

roform and successfully Intro- |

duced it for general medical
ust.

Chemistry was awarded to Dan
Shechtman "for the discavery
of Quasicrystal”, ;
{2) The win at the Buddh In-
ternational Circuit {BIC) was
Vettel's 11th win this vear and
put him on course’to equal the
- resord for the mast number of
wins in one F1 season.
(2) Kuchipudi is a Classical
Ipdian dance farm Andhra
Pradesh, India.
{4) He was sn Indian Bengali
flmmaicer. He is regarded as
one ci the greatest auteurs of
20th cenlury cinema.
96. (3) The data reflects that
' 18.62% of the country's rural

(4) The 2011 Nobel Prize tn |

population lives in Uttar
Pradesh and 13.48% urban
population lives in Maharash-
tra.
(2) The National Old Age Pen-
sion Scheme provides a pen-
sion for the elderly who live
below the poverty liné.
(2) The Department of Atormie
Energy (DAE) has estimated
uranium reserves of the mine
. at 150,000 tonnes, which are
one of the largest in the world.
; (4) Rongali Bthu (mid-April,
also called Bohag Bihu), the

b

most popular Bihu celebrates |
the onset of the Assamese New ¢

' Year
100. (2) With around 600000 inhab-
itants, Sikkim is the leastp-op
ulous state in India and ihe
second-smallest state zlter
Goa in total area.

(3) Given, /4096 = &4
- J20.96 ++/0.4083 +

J0.004096 + /200004096
=B6.4 + 0.64 + 0,064 +0.0064
=7.1104

101.

1 1

0000 B 1“ 35 S "96 ' Ta3

103. (4) (256)" 2] - (26y(#7)

= 1 I
i T e
@56)8 (2%)8
552 _ 250
104.(4) 2. %2 s
Requlred sum
=250 + 99 = 349

108.(1) Jx =3y’

A
= x?=y3
1 1
= (x2)° = (u3)*
=0=
106.(4) B's 1 cay's work

» 1 ‘n v v—_l—
- B'a 2 day's work 80
+ {A+B)'s 1 day's work
dilg 1 S¥L 1
B works for half day daily

» The work will be completed
in 15 days.
107.(3) A:B=D,: D )
= 100: 1_40=D2:?U
= 100% 70 = 140 xD,

=D, = ___100:070 =p0odays.

108. (1) If the radius of the hemi-
sphere be r units, then
height of cylinder and cone

=r units ;

.. Required ratio
= nrth : 20 ; ém‘h

=ard: 2xre:

=3:6:1
108. (3) If the radius of the new
cylinder be R then,
2nr2h = zR%h
= R2=2=R= Jor
110.(3) Volume of the pyramid

Lo
8"

%xhctght x area of the base

s%x 10% 57 = 190 cu.cm.

| 111, (4) If the'lepgth of the edge of

cube be xcm, then
diagonal =v3Xx cm
4 JBx=8/3=x=8cm
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.. Surface area of the cube
=6x2

=6x8x8

=384 54. cm

112. (2) Side of square = JS metre
Radius of in-circle '

T s
Area of the circle = xr?

s
SEX—==—
2 2 8q. metre.

113. (3) If the side of the equilater-:

al triangle be X units,
then,

3x =J§[-?—x’)

3x2

=3x=——-
4

= X =4 units
 114. (3) If the side of the square be
x units, then :

diagonal =J2x units

<. Area of the square =%
and area of triangle

J3
= T (ﬁxlz
¥3:2

b
e e units
. -Required ratio
; 2
i ETX

=2:43 -

115. (1) If the marked price be Rs.
x and cost prige be Rs. 100,
then,

xx75
XED 135
100 F

125x100 500
o e— e —— m,—-‘
75 3

S.P. after 2 discount of.10%

500 . 90
=— =¥ —=R8.150
3 100

4 Gairi per cent = 50%

1186.(3) Let the marked price be

Rs. x
. ex B4 _1200x112
+ 100 100

84
= xx——=112%12
100 -

= Rs.1600

oo 1121200
81

By componendo and divi-
dendo,

x-y _15-4 11
x+y 15+4-19
11B.12) Let the original number of
carpenters be x.
M,D, =M;0,
= xx9=(x-6)x12
= 9x=12x-60
= 3xs60 = x=20
118. (2) Let the total distarice be x
km.

xxﬁx

,_s+ _12.

Tolal time o5 30 50

:‘iq....{. +__.‘E_.'_,

75 12G '20
XX i‘l”5" 3x
~75 €9 300
', Average speed

A Total distance
Time taken

100 ——hours

{ 120, (*) Sum of the numbérs = 124
If the larger number be x, then
smaller numberi= 124 - x

L 124-x+2 _1

% x 2
= 252-2x=x
= 3x=252=x=84

2% Smaller number

'-124 84 =40
. Difference =84 -40=44

| 121. t2} Perccntagc profit

_25-20

100 = 25%
) x 2

117, (1) yix=4: 152 x1y=15:4 |

122.(2) If the cast price of article
be Rs. xthen
50090 _ xx120.
100 100
Bx
= 450 =—
; 5.
= 6x=5x450 '

53450
=‘x—“—g~—“ = Rs. 375

40
123.(1) [A-J-B; *100

60
N

= 2(A+B=3A-B)
= 2A+2B=3A-3B

= A=5B
. 2A-3B _10B-3B
" A+B = BB+B
a e
6B 6
124. (3) Required percentage in-
crease
iy 10x20Y,
—[]01-20+ o kr.
=32%
128. (3) If the distance be x km,
then
X 8
40 50 60
G
=H———=
¢ 5
= x=20 km.
* ", 'Required lime

_(20
-(40] hour - 11 minutes

1
= [EX 60-1 1} minutes

= 19 minutes
126. (4) Height of tree after 1 year

3644»64:(%:72&11
Height of tree after 2 years
.
=72+72x—
- -
=72 +9=81cm
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127.(1) 2%3 = 32'= 25 :
=:>xll-3 5= x=5-3=2
3‘“‘1—33 =97

128.(2) x+l=2

=.-,JF+I 23:5):“ 2x+1=0
= (x=1)2=
=x=1
oy i
s .+x_3-]+1_2
a b
139-(11;*;-1
a4+ b?
a0
ab ;
=:a’+!:lzéqb
=a*+b-ab=0
L P
=(a+b)(@®-ab+b?) =0
130.(2) a*+ P+ 2+ 3
=2a+2b+2c
= a®-2a+1+HP- 2h'H+t?

=1

—2¢+1=0
={a-12+[b-1)2 +{c-1)2
i

=a-1=0=a=1;

h-1=0=b=1
and, c-1=0=c=1
SN a+hbh+e=3

2p _1
1L8) 7 opr1 4
P
vl 2p+1 _
2p
.In_
O L. il
P

2
_p_'_.z_p+ l=8"'

p p p-

=3

1 3
= +—=B+2-10 :
4 P

133. (3]Sumofar4.,lea of man,g}.e
=180° .
n X+ 5 +2x— 3+3x+4
= ]180°
= Bx+6=180"
= Bx=180-6=17¢°

174,
S = DO
=% X 6

134.(2) p ' S

R
XP=XR

% ..ﬂCPR:fIXRP
If /PSX = ZRQX,
then, PS < RQ

,1385. (2] D, is the mid- point of side

BC. :
Point O 1s' thc centroid that
divides AD in the ratio 2 ; 1.

h AABC

clbi=x /B=y /C=z

In APBC. ’
ZPBC + ZPCB + £BFC = 180°

W % -
=73 4EBC + 5 ZFCB +

4

/BFC .
= 180°
szBC+.¢FCB+2ABPC
=360° _
= (180 y) + (180° - 2) + 2
£BPC =360° .

4 860°- [y + #) + 2 ZBPC =360°
=2/BPC=y+z

= 2/BPC = 180° x

= 180°- ZBAC

.-:fBPC:SO’--% £BAC

T = 90°-50° = 40°

187.(2) tan (20 + 459) = cot 30

- =tan (80°-30) .
= 20+ 45°=90"- 36
= 5= 90"—45“"45“
& A=9F
I38.(2) AB = Length of the thred =
-150 metre

: “15
138.(2) cosb = 1

N I )
=occle et 15

- cot{90°

2 ‘
- [E] -1= —...289_]
i 15 V225 :
’289—225 '64 8
Y [——
225 225 15

140.(1) sec0 - tan®0 = 1

-6) = tan 0

s
sec?d + tan2f = 12
& sectd-tant
= (sec?0 —tan?)) (sec?d + tan?j)
T 7
ks
141. {l] cosx + cosy =2
- coS X .5'1'
ﬁ-.t cosx =1;cosy= 1
=2=y=0° . 5

o sinx+siny=0 "'
142. (2) Required ratio
' =144:36=4: 1_.
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143. (1) Required percentage

=.15_;.6.{.°_3.x100=35%

144.(4) Difference in the angles
allotted for green zone and
commercial purpose
= 108-54=54°
"+ 360°=5acres

P
.'- 2 S—— x = 5
54°= 360 54 7 acres

148.(3) "~ 360° =5 acres

. 198° (= 144° 4 54°)
5

11
——x198 = — acres
i

= 2% acres
148.(1) In 1997,
Gross profit = Rs. 50 lakh
Net profit = Rs. 25 lakh
147. (3) Required percentage

15
=—2 %100 = 37.5%
40

148.(4) chuired difference
= Rs-i— {20 + 25 + 20 + 25) lakh

=% % 90 = Rs.22.5lakh

148. (1)Gross profit : net profit
Year 1984 = 3:1

Year 1995=40:15=8:3 "

Year 1996 =45:25=9:5

Year 1997 =50:25=2: 4

180. (3) Required ratio
=165:75=11:58

181. (2) After etther of, each of and |

neither of, plural siihject is
used, but the verb is singular.
Hence, 18 shéuid be used here.

182. (1) If a pronoun (I, we. you, he,
she, it eic) comes before a
Gerund (-ing form), then it is
in the form of possessive ad-
Jective [!"W aur, your, his, her,
its ete). ifence, Due to my be-
.ing a new comer .... should be
used hsre.

183, (3) Here, that of any other
nigwspaper .... should be used.

154. (2) Here, there were meore |

beautiful flowers.......should
be used. Use of article ‘the’ is
not proper.

165, (2) Here, describes should be
used.- Use of preposition
‘abouf’ is superfluous.

1586. (2) Look at the sentence.
The fact 15 too evident to re-
quire proof. i
Here, ‘too’ means : more than
required.
too + adjective + to gives a
negative sense.

181. (4) The word Magnificent (Ad-

Jective) meanas.: extremely at-
tractive and impressive: de-
serving praise; splendid.
Look at the sentence :

The Taj Mahal is a magnificent
building.

,‘z

| 162.(3) The word Spirited {Adjes-

tive) means : full of inecgy.

determination or courage; en-

thusiastic. = y

Look at the seutente :

She pul up a spirdied defence

in the final game.

163. (3) The wp:ii Gicomy (Adjec-
tive) means : depressing;
nearly dark or badly lit in a way
that makes you feel sad; glum:
mucly.
ook at the sentencea :
1t was a wet and gloomy day.

Suddenly the future didnot

look so gloomy afier all.

184.(2) The word* Grumble (Verb)

tneans : to complain about
somebody/something in a bad-
tempered way. .

. Look at the senténces :

" She is always grumbling to me
about how badly shl: is treat-
ed at work.

168.(1) The word Crude (Adjee-
tive) means : unrefined; vul-
. garisimple and not very accu-

. rate,

166.(3) The word-Detest (Verb)

means : to hate somebody/
something very much; loathe;
dislike.

Look at the seantence :
They detested each other on
sight. a

Its antonym shou'd be lixe.

167.(1) The word Imtestionul (Ad-
jective) means : dene delib-
erately; deliberate; intended.
The word dceldental (Adjec-
tive) means ; happening by
chance‘ “not-planned.

168.(3) The woyd” Commence

b) means : to begin sorme-
thing: start.” - -
The word “Conclude (Verb)
means ! to come to an end; to
Biing something to an end.

16%. (1) THe words Expand and
Centract are antonymous.

170.(3) The word Prosperity
[Noun) means : the state of
being successful, especially in
making money: affluence.
The word Adversity (Noun)
means : a difficult or unpleas-
ant situation. "

Look at the sentenceés :

Our futur:gmpeﬁty #epends
On €cono;

He overcame many personal
adversities. .

171.(1) Idiom speak your mind
means: to say exactly what
you think, in a very direct way.

172.(2) Idiom make & mountain
out of & molehill means : to
make an unimportant matter
seem important.

173. (l} Idiom hand'fn glove means

: working closely with some-
body especially in a secret’
and/ or {llegal way.

174.(2) Idiom add fuel to the fire
means : a thing that is dene
that makes something (an ar-
_gument) get worse.

175, (2) Idiom wear and tear mearis
the damage to objects, furni-
ture. property etc. that is the
result of normal use.

Look at the sentence :

The insurance policy does not
. cover damage caused by nor-

mal wear amd tear.



